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METHODS YEAR 12 Test 4 2017
Logarithms
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No notes or calculators allowed for this section.

Question 1 (5 marks)

Evaluate the following, giving your answer as a single log term:
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Question 2 (9 marks)

Solve each of the following equations. Leave answers in logarithmic form where necessary.
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Question 3 (5 marks)

Iflogyp 2 = x and log; 3 = y. Express the following in terms of x and y
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Question 4 (3 marks)

The function f(x) = log(bx — 2) is drawn below.
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(b) Use the graph to approximate the solution to log(bx —2) =1 (1 marks)
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Question 5 (3 marks)

If x= %, show that log(1 — x*) — log(1 — x) — log(1 + x) = 2log2 — log3.
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Question 6 (4 marks)
State the following as y in terms of x
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Question 7 (9 marks)

Differentiate each of the following with respect to x.

A
@ y=+xln (;x) - X 2 X ﬁ{/\(—g) (3 marks)
c K\j x vt % | e
- = 2 N ff\<§) TX o x
A g« : =
A
= Ay kS /{—,5: e
2 Ao AL

(x+4)?

(b) y=ln[m] [/ (3 marks)
= Ll (o) — n (331)

oy 2. B b, ol
ot = oL T 3. @ (guuj(a)w]_

() Y= % (do not simplify) = (_UU\()#\'@\T\ QW(Q’ (3 marks)
Vv .
dy  — st ) — @S

ok = (Jn )2
17



Question 8 (3 marks)

The tangent to the curve y = In(kx — 1) has a gradient of 1 when x = 2.
Determine the value of k.
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Question 9 (2 marks)

Determine the following anti-derivative, simplifying your answer using logarithmic laws if
necessary:
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